
SAP ABAP table VFPA {Partner for Shipment Costs}

VFPA

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

PARVW [CHAR (2)]

KUNNR [CHAR (10)]

LIFNR [CHAR (10)]

LAND1 [CHAR (3)]

HITYP [CHAR (1)]

LZONE [CHAR (10)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]
 VFPA-KUNNR = KNA1-KUNNR 0..N

{0,1}

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]
 VFPA-LIFNR = LFA1-LIFNR 0..N

{0,1}

T000

MANDT [CLNT (3)] VFPA-MANDT = T000-MANDT 0..N

1
T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 VFPA-LAND1 = T005-LAND1 
0..N{0,1}

THIT

MANDT [CLNT (3)]

HITYP [CHAR (1)]

 VFPA-HITYP = THIT-HITYP 

0..N

{0,1}

TPAR

MANDT [CLNT (3)]

PARVW [CHAR (2)]

 VFPA-PARVW = TPAR-PARVW 

0..N

1

TZONE

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

ZONE1 [CHAR (10)]

 VFPA-LZONE = TZONE-ZONE1 

0..N

0..N


